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QUESTION 1

Which type of column contains information about objects that are linked to or from objects in the current module? 

A. graphics column 

B. traceability column 

C. link indicator column 

D. object identifier column 

Correct Answer: B 

 

QUESTION 2

Which method is used to control the type and direction of all links? 

A. use link arrows 

B. enable linkset control 

C. create linkset definitions 

D. create a mandatory default linkset pairing 

Correct Answer: D 

 

QUESTION 3

Which type of view automatically gives the creating user full access and all other usersread-only access? 

A. Public 

B. Private 

C. Custom 

D. Standard 

Correct Answer: A 

 

QUESTION 4

Which three users can close a discussion? (Choose three.) 

A. Project Manager 

B. Database Manager 
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C. the user who created the discussion 

D. the user who last entered a comment into the discussion 

Correct Answer: ABC 

 

QUESTION 5

What is a valid reason to rewrite a requirement? 

A. The requirement is testable. 

B. The requirement is ambiguous. 

C. The requirement is simply stated. 

D. The requirement is a complete sentence. 

Correct Answer: B 
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